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Tength (x)

[1] 10

> #elrall waSes

> A=rev(x)

> A

[1] 21347149738
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> A[3]

(1] 3

> # jolic S5 ysl gl yaiw

> A[c(8,9,10)]

[1]1 9 78
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> ALl=A[(1: (Tength(A)))]
> Al
[1] 2134714978
> A2=A[(Tength(A)/2 :length(y))]
> A2
[1] 731122222
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> #;_L_‘_._Q-I prilas Olas
> summary (A)
Min. 1st Qu. Median Mean 3rd Qu. Max.
1.00 2.25 4.00 4.60 7.00 9.00
> sd(A)
[1] 2.951459
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> z=rep(c(1,2,3), each=4)
> Z
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> ¥ 4
e {_u“ oz - 2 > names=c ("omar","akram", K “"fer1al”, "mourad”, "1kram")
i & e—— + |> ages=c(26,23,27,41,23)
1 > langsc (170,172,159,156,162)
= e | > tmdata.frame(name, age, lang)
- 1 e | > t
— <L fT + - - name age lang
—1- 1 omar 26 170
_i_. 2 akram 23 172
: l 3 ferial 27 159
3 \ 4 mourad 41 156
9 | 5 ikram 23 162
1 | | 1 \ ! | 1 1 B fix(r)
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> #3i5laxy a5 Loz 11
> summary (t)
name age Tang
Length:5 Min. 223 Min. 2 156.

Class :character 1st: Qu. ;23 1st Qu.:159.
Mode :character Median :26 Median :162.
Mean 128 Mean :163.
3rd Qu.:27 3rd Qu.:170.
Max. 141 Max. 172

OO0 OoOOoOOo

CIW 0l

2070 spal o Slpadll odis Joan jolas rg Lkl Jgud! AL (o5las) i) e wsvadly Bl o JS7 51 2ls bl 3
2020 z

ol | 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020
@slasY gl Juas | 3,60 | 290 | 3,40 | 280 | 3,80 | 3,70 | 3,20 | 1,30 | 1,20 | 1,00 | -5,10

Ak Jows | 9,96 | 9,96 | 10,97 | 9,82 11021 [ 11,21 [ 10,20 | 10,33 | 10,42 | 10,49 | 12,25
ezl Jaes | 391] 452 889 325] 292] 478] 640| 559 427 195| 2,42

okl
il Wi D sodl Wi ch @ Wl 35
sedly Wl o b,V B dab sa> .9



2 ® 2. 2L 1 - 2 5 3 3 ? 3 1
> #_I."._;.:_,L_l_;: atlhy I Gy axblayy¥l aadall 4azaih

> cor(b,ch) _
[1] -0.7203659
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> #é._‘-'n_t N g e 1) e pRa 41 LI R RN 4 35l=o poaas
> model=Tm(D~ch+i)

> mode]

call:

Tm(formula = D ~ ch + 1)

Coefficients:
(Intercept) ch i
26.7654 -2.5648 0.4997
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> summary(model)

call:
ITm(formula = D ~ ch + 1)

Restiduals:
Min 1Q Median 3Q Max
-1.7644 -0.7883 ~0.4031 0.3771 3.2974

Coefficients:
Estimate std. Error t value Pr(=|t|)

(Intercept) 26.7654 7.9207 3.379 0.00965
ch -2.5648 0.7388 -3.471 0.00843
i 0.4997 0.2641 1.892 0.09508

(Intercept) %
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Signif. codes:

QO swdwl 0,001 *wwY 0,01 **2 0,05 Y." Q0% ¥ ¥ A

Residual standard error: 1.657 on 8 degrees of freedom
Multiple R-squared: 0.6677, Adjusted R-squared: 0.5846
F-statistic: 8.037 on 2 and 8 DF, p=value: 0.0122
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> model2=Tm(mtcars$disp~mtcars$mpg)
> model2

Call:
Im(formula = mtcars$disp ~ mtcars$Smpg)

Coefficients:
(Intercept) mtcars$mpg
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> y=c(120,130,140,150,160,170,150,160,140,125,135,110)
> Z=c(105,115,120,125,130,130,120,100,125,110,120,110)
> #?_LL_E_L' 0 5 2 R R —f—-'—”\- |
> shapiro.test(y)

Shapiro-wilk normality test
data: vy

W = 0.98026, p-value = 0.9846
> shapiro.test(2)
Shapiro-wilk normality test

data: Z
W = 0.94365, p-value = 0.5468

gl ) Jos e

3550 e lgamm & ) SULI i anly) pisiaey shapiro jLes

baeb £558 DU OF Laslis dppdes 805 oo 3llass

0.05 ;o xST 25 (p=0.5468) (p=0.9846) bl I alox=V 2ad dlomSe M5 09
il sl @ Ll g a2 i

120 (oluy slsdl L aiall banis Javgie OF o3lin s (s aall o dll jusl—

Bl dapa) S gt Yl puiie dow ) 0dd sty amball ay gl as b1 OF 6

> #120 Golwy dia=z 0l hwgio ?‘; y L

> t.tesi(y,mu=lé0) i
One Sample t-test

data: vy
t = 4.022, df = 11, p-value = 0.002009
alternative hypothesis: true mean is not equal to 120
95 percent confidence interval:
129.4326 152.2341
sample estimates:
mean of X
140.8333

s Cilua yal)
{HO: u=120
Hy:p# 120
df=n—1=11 dall days vic g disunall el t=4.022 Lo of a3 daladl Z300 DA (e
Jad) Gl Jiis (gyeall i jdll (b yi diag 0.05 e JiI a9 P=0.002 dasd o a5
12 o Ll a0 Jarin Jacsgio of el 0S5 Lag 120 slaar ¥ Ll ol a3 Jaia Jacigia off 4




slod) Jlorznl dary |3 Jorall Jowgze OVl dmgy Y il oolis (sl (s pall o dll Las)—
ey al Codge HlS) L pdseand

> #;_'r;_L__fo_x__\_;_,-;_" o= Il L hwet o oy g pal y Lo s

> t.test(y,z,pa{reé=TRUE)
Paired t-test

data: y and z
t = 5.2407, df = 11, p-value = 0.0002765
alternative hypothesis: true mean difference is not equal to 0O
95 percent confidence 1interval:
13.53382 33.13284
sample estimates:
mean difference
23.33333
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